Aluminum Pull
UJF wuns -

MANsMACHINE
ELEMENTS

!
! O\ UJF-BK
FL = UJF-AL
I m ﬁ}
I It N =
L1
L M
o H/F, RELE 0 rors o FIEER F IR LB AT
UJF-AL UJF-BK / UJF-SG (b Poxxxx) H/NEL, RER,
. = FS s o o s
e aib e (&) o REAIESH 3T, ARBESHREH SHTHE,
AT TS KEFS RELRE
SUSXM7 SUSXM7
C AT ED) ‘ ‘ AL R
BK RIS (TER)
G BB (T
® LA R FE AR RIS A IEE (SUSXMT ). 15 AR
2 ERIARSS (BB ST,
{7 mm
BHERE - BLWHNOES
el A L H h L Lf M i BE(g) e
UJF-12-55 12 55 40 32 63 10 M5 1000 23 M5x 12
UJF-12-88 12 88 40 32 96 10 M5 1000 30 M5x 12
UJF-12-100 12 100 40 32 108 10 M5 1000 32 M5x 12
UJF-12-120 12 120 40 32 128 10 M5 1000 85) M5x 12
UJF-12-180 12 180 40 32 188 10 M5 1000 45 M5x 12
UJF-12-200 12 200 40 32 208 10 M5 1000 50 M5x 12
UJF-12-235 12 235 40 32 243 10 M5 1000 61 M5x 12
*1: FRANNBERA.
o HSIETFE
UJF-12-55-AL
—
-a 2]
UJF-12-55-AL-P
| | —
-a @ gupmn
%
(ERBAHHRS (RASID N, B~ RRSmREEm P,
TV BB - BLEE = P & HIHIED = Poxxxx
b |AIN R, BASI

N\ NBK \, » 0512-5290-1560  5¥& » info@nbk1560-chn.com.cn & ) https://www.nbk1560-chn.com.cn/



